Explore:
Vou sold a total of $24 worth of cheese. You forgof

how many pounds of each type of cheese you sold.
~x

é’ Pounds 3 F'amdsof _ a“l

¥ . cheddar

—_—

Ib of swiss b

Swiss: $6/Ib  Cheddar: s3/lb

1. Let x represent the number of pounds of Swiss cheese. Let y represent the
number of pounds of cheddar cheese. Write an equation that relates x and y.

bx +3'j - 24
2. You sold 2 pounds of cheddar cheese. How many nds of Swiss cheese did you
sell? Explain. y-values, So y = Z 6 x _[_g(z) -2y
bx+b=2Y
. -b ~-0
2 ?W of Swiss ox=18 i
= ® | *T

3. Does the value x = 2.5 make sense in the context of the problem? Explain.
s, i 15 possivle o havl part of a pound
ot chheese

4. If you sold O pounds of Swiss cheese, how many pournds of ¢heddar cheese did

you sell? Explain. X-value,So X=0 +3 Y =24

3y =29
%?Ms of cheddar "'35"'3"
48

5. If you sold O pounds of cheddar cheese, how many pounds of Swiss cheese did
you sell? Explain. \[-Vﬂ-lut So \=0

2% OX +3:é(’) =24

bx=2y

H pownds of cheddar =
40 X :®
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6. What point will be on the y-axis of your graph? (This point is the y-intercept.)
What does this point mean in context of this problem? . X =o

Gee &Y X=o T y=3
So (o’g) 1S Lf-—ian.ﬂP'}

7. What point will be on the x-axis of your graph? (This point is the x-intercept.)
What does this point mean in context of this problem? whd j -0

See#5 =0 T Xz
So  (Y4,0) s X-infreert

8. Plot the y-intercept and the x-intercept. Use a straight-edge to connect the two

points.
¥i

9 .

What does this point mean in the context
this problem?

9. Find another point on the line you drew.o_g
T

G

(2;"0 - 9 \bs. Swiss T Y Chedar 2

1

(3,2) -3 Lbs. Swiss 7 2 \bs. Cheddang———
10. Rewrite the equation in y = mx + b form. Pounds of Ly

Y= §-2x W 5
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